Exercises

SECTION 11.2  SERIES m

1. () What is the difference between a sequence and a series?
(b) What is a convergent series? What is a divergent series?

2. Explain what it means to say that 271 a, = 5.
2-4 Calculate the sum of the series 2;-; a, whose partial sums
are given.
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5-§ Calculate the first eight terms of the sequence of partial
sums correct to four decimal places. Does it appear that the series
is convergent or divergent?
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== 344 Find at least 10 partial sums of the series, Graph both the

sequence of terms and the sequence of partial sums on the same
screen. Does it appear that the series is convergent or divergent?
If it is convergent, find the sum. If it is divergent, explain why.
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(a) Determine whether {a.} is convergent.
(b) Determine whether 27— a, is convergent.
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77-26 Determine whether the geometric series is convergent or
divergent. If it is convergent, find its sum.
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Ejzj Graphing calculator or computer required

27-42 Determine whether the series is convergent or divergent.
If it is convergent, find its sum.
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45-42 Determine whether the series is convergent or divergent
by expressing s, as a telescoping sum (as in Example 7). If it is
convergent, find its sum.
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CAS! Computer algebra system required

7. Homework Hints available at stewartcalculus.com



